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1. Avery is baking.
She uses 42 tomatoes to make soup and 33 tomatoes to make a tomato salad.

How many tomatoes does Avery use altogether?
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2. There are 40 passengers sitting in a bus.
There are 21 passengers standing in the bus.

How many passengers in the bus?
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3. There are 74 students sitting in the dining hall.
There are 25 students standing in the queue in the dining hall.

How many students are there in the dining hall altogether?
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4. Cole already has 30 flash cards in a box.
He gets given 48 flash cards and puts them in a box.

How many flash cards are in Cole’s box now?
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Answers

1. 75
2. 61
3. 99
4. 78
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